] ok o7 7 S 23k 2024 “E5 6 B 1

Advances in International Applied Mathematics https://aam.oajrc.org/
IS “BitbBlzkEs” fRRB A S ——EREIET EHH AR E ST
P

MM RFHFHFFR LHHN

[BE] i RER (LEHFRFBALRE (2022 FHR) ) UMER PO TR MBI, AL
2023 FARBFERZH 18 MO R B ZAA N KRB B TUTLESR, FETFAEANKNLE 50
fEFaiZ R RE T o AR SAPFIL, BAFAAA L& EFE, SFANANBLRZ R T HIERR ) 2
KEF, R—E LA KA R HGHFHE,

[R88iR] el &8, #WLEe; T HA

[UisEHAY 2024 51 A 18 | [E£F]BHAY 2024 %3 A 21 8 [DOI1110.12208/j.aam.20240004

Skillfully use '"proportional line segment" to solve the combination of number and shape problem

—— a deep analysis of the middle school exam filling in the blanks

Mengchi Jiang
College of Mathematical Sciences, Yangzhou University, Yangzhou, Jiangsu

[Abstract] The proportional line segment is an important part of the geometry module of the Compulsory
Education Mathematics Curriculum Standard (2022 edition). This paper is an in-depth analysis of the 2023 Wuxi
high School Entrance examination No. 18. This problem is a geometric synthesis problem of quadratic functions,
which examines students' ability to understand and use logarithmic combination. There are six cases in this question,
each of which has its own characteristics and rules. It requires students to have high intuitive imagination quality and
logical reasoning ability. It is a challenging and connotation math problem.
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